Escuela de Ajedrez de la UNED

Soluciones:

(1) 1.8e5!+-

(2) 1..2d2+ 2.2xd2 Hb2#

(3) 1..2g4 2.8xg4 [2.892 Wixg2#] 2. Wixf1#

(4) 1.2e4 &xed 2.Bexed+- gxh4 3.2g4+ h8 4. Wig7#

(5) 1.1g8+! Exg8 2.5\ f7#

(6) 1.2d8+ £xd8 [1...Exd8 2.Wxca+-] 2. Wes#

(7) 1.67++- £xe7 [1...52g7 2.8g3#] 2.¥hs#

(8) 1...0f3+ 2.gxf3 [2.W/xf3 Exf3-+] ...¥xd1+ 0-1

(9) 1...2ad+ 2.bxad ba#

(10) 1.2d4 ¢bxd4 2.d7 1-0

(11) 1...2d3+ 2.Wxd3 [2.56b2 Wxd2#] 2...Wxg1+ 0-1

(12) 1.2f8!+-

(13) 1.2d8+1+- £xd8 [1...Exd8 2.Wxb7+-] 2.Wes#

(14) 1.8a7 H)b6 2.2cT#

(15) 1.f6++- Wixf6 [1...cg8 2.2h8+ bxh8 3.Wh6+ g8 4.Wg7#] 2.Wh6+ g8
3.Wh7#

(16) 1.2d8+! ¥xd8 [1...Axd8 2.We8#] 2.£xd8 Hxd8+-

(17) 1.2h2 &xh2 [1...8a7 2.e4] 2.f4+-

(18) 1.8f7 &xf7 [1...8xf7 2.Wg8#] 2. Wh7#

(19) 1.2e8+ £xe8 [1...Wxe8 2.Wixfo#] 2.Wfe#

(20) 1.£b5 Bb8 2.¥c7 1-0

(21) 1...2d3 2.£xd3 Wixh3+ 3.sbg1 Wg2#

(22) 1.£d6 Bxd6 [1...5)xd6 2.Wixe6+] 2.¥b8+ 1-0

(23) 1.£f41 chxf4 2.h6+-

(24) 1.2g8! xg8 2.a7+-

(25) 1...0f2+ 2.9)xf2 Bxg1+ 3.2xg1 Be1#

(26) 1...8b4 [1...50f3+ 2.2xf3 Wixf3 3.Wed] 2.axb4 H)f3+ 3.8xf3 Wxf3 0-1
(27) 1.d5! Hxd5 [1...¥xd5 2.6+ dhg8 3.Wxf7+ bh8 4.Wfs#] 2.Hg3+ Hh6
3.Wha#

(28) 1.2e4 £xed 2.2axed dxed 3.Wgl#

(29) 1.2f5 Wxb3+ 2.axb3 exf5 3.4 1-0

(30) 1.2e1+ bb5 2.£c3 Bh1+ 3.52g6 Hg1+ 4.7 +-

(31) 1.2e8+ £d8 [1...2d8 2.5\c7+ &b8 3.)a6+ a8 4.Wb8+ Bxb8 5.4H)c7#]
2.8xd8+ Bxd8 3.2c7+ ©b8 4.Hab+ £a8 5.Wb8+ Exb8 6.DcT#

(32) 1.Wg7+ Hxg7 2.0h6+ £h8 3.0)xf7+ g8 4.9xd8+ [Quedando con pieza
de ventaja.]

(33) 1.5)f6+! £xf6 2.8d3 Be8 3.84xh7+ Bh8 4.8g6+ g8 5.Wh7+ 8 6.Wxf7#
(34) 1.d6+ £xd6 2.&hd+ Bf6 3.Wxi6+ e 4.Wg6#

(35) 1...82c2 2.Wxc2 [2.2xc2 Wixg2#; 2.8xc2 Exe1#; 2.b6 Exel+ 3.2xe1 Wxg2#]
2...Bxe1+ 3.8xe1 Wxc2 0-1

(36) 1...8c1+ 2.8xc1 [2.8xc1 Wixd5] 2. Wb 1#

(37) 1.¥g5+! hxg5 2.8h8+ £h6 3.8xh6#

(38) 1.Wh7+! HHxh7 2.5\g6#

(39) 1.2f7+! HxF7 2.5)xeb#

(40) 1.8f5! exf5 2.f7+-

(41) 1.8g3! Bxg3 2.d7+-

(42) 1.5\d5 [1.2h6 We5] 1...exd5 2.2h6 1-0

(43) 1...2e3 2.2xe3 [2.fxe3 Wxg2#] 2...h3 3.g3 Wf3 [Seguido de mate.]

Intercepcion-Bloqueo



Escuela de Ajedrez de la UNED

(44) 1.8e7 Wxe7 [1...2e5 2.8xd7 Hxf3+ 3.xf3+-] 2.Wd5+ 1-0

(45) 1.g4 Wxf3 [1...8xf3 2.Hc8+] 2.5c8+ 1-0

(46) 1...£d3 2.Hae1 &xed 0-1

(47) 1...82e2! 2.Wixe2 Wxe2 3.8xh1 -+

(48) 1.2a7 Wxa7 2.d7 1-0

(49) 1...2e3 2.fxe3 [2.5)d5 Bxf3] 2...50h3 0-1

(50) 1.2)e5 fxe5 [1...2h6 2.Wxf7+-] 2.Wxf7+ ©h6 3.Wxh7+ g5 4.hd+ &f4
5.Wf7+ che4 6.Wf3#

(51) 1.%c5 [1.xh7 £g1+ 2.2h1 £f2+=] 1...He8 2.8xg7 &xg7 [2...Wxg7
3.Wxh5+ Wh7 4.Wxh7#] 3.0 xe8+ g8 4.Wxb6 1-0

(52) 1.4 de7 Eg8 [1...87 2.2xeb] 2.8g5 Dxe7 [2...Dxg5 3.Wixh5+ Dh7 4.7 g6#]
3.%xe7 Wixe7 4.8xh5 1-0

(53) 1.2g8+ Hh8 [1...hxg8 2.8f8++-] 2.26 Wxe6 3.2f8+ hh7 4.e8% 1-0
(54) 1.8e7!! gxf5 [1...2xe7 2.8xf7] 2.Bfxf7 Wxe7 3.Wxh7#

(55) 1.2d8+! eb [1...2xd87? 2.h8W++-] 2. &h4+-

(56) 1...Eb1! 2.cbxb1 f2-+

(57) 1.e6! 2e7 [1...52c8 2.Was#; 1...c0e7 2.Wd7+ bf6 3.Wf7#] 2. Was#

(58) 1...2e5! [1...1f3 2.e5!+-; 1...Wxa1 2.2b2 Wxa2 3.Ha1+-] 2.8b1 Wf3-+
(59) 1.2b5+ 2d4 [1...2e4 2.a8W++-] 2.h8W++-

(60) 1.2xf5+ bxf5 2.cbh4+-
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